#### Midlothian Council

#### Transfers Report

This report contains the transfers results.

4,954

1,239

Contest Name

Ward 6 - Midlothian South

Valid Votes

Positions to be Filled

Quota

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Douglas BOWEN	Scottish National Party (SNP)	1,005
Kelly DRUMMOND	Scottish Labour Party	1,243
Hazel FLANAGAN	Scottish Labour Party	573
Daniel FRASER	Scottish Libertarian Party	58
Christopher Ringland HAMPTON	Alba Party	44
Ellen SCOTT	Scottish National Party (SNP)	1,045
Malcolm Gray SPAVEN	Scottish Green Party	349
Robin STENHOUSE	Scottish Conservative and Unionist	637
	Total	4,954

Candidate Kelly DRUMMOND Elected with 1,243 votes, being in excess of the quota of 1,239

This report contains the transfers results.

# Stage 2 - Surplus of Kelly DRUMMOND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Hazel FLANAGAN	1,079	0.00321	3.46359
No further preference Not transferred due to rounding	41	0.00321	0.13161 0.00997
	Total		4.00000

This report contains the transfers results.

# Stage 3 - Exclusion of Christopher Ringland HAMPTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Douglas BOWEN	8	1.00000	8.00000
Transfer to Hazel FLANAGAN	3	1.00000	3.00000
Transfer to Daniel FRASER	5	1.00000	5.00000
Transfer to Ellen SCOTT	6	1.00000	6.00000
Transfer to Malcolm Gray SPAVEN	7	1.00000	7.00000
Transfer to Robin STENHOUSE	5	1.00000	5.00000
Transfer to Hazel FLANAGAN	1	0.00321	0.00321
No further preference	10	1.00000	10.00000
Not transferred due to rounding			0.00000
	Total		44.00321

This report contains the transfers results.

# Stage 4 - Exclusion of Daniel FRASER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Douglas BOWEN	5	1.00000	5.00000
Transfer to Hazel FLANAGAN	9	1.00000	9.00000
Transfer to Ellen SCOTT	2	1.00000	2.00000
Transfer to Malcolm Gray SPAVEN	14	1.00000	14.00000
Transfer to Robin STENHOUSE	16	1.00000	16.00000
Transfer to Malcolm Gray SPAVEN	1	0.00321	0.00321
Transfer to Robin STENHOUSE	1	0.00321	0.00321
No further preference	17	1.00000	17.00000
No further preference	1	0.00321	0.00321
Not transferred due to rounding			0.00000
	Total		63.00963

This report contains the transfers results.

# Stage 5 - Exclusion of Malcolm Gray SPAVEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Douglas BOWEN	54	1.00000	54.00000
Transfer to Hazel FLANAGAN	92	1.00000	92.00000
Transfer to Ellen SCOTT	132	1.00000	132.00000
Transfer to Robin STENHOUSE	20	1.00000	20.00000
Transfer to Douglas BOWEN	1	0.00321	0.00321
Transfer to Hazel FLANAGAN	11	0.00321	0.03531
Transfer to Ellen SCOTT	2	0.00321	0.00642
Transfer to Robin STENHOUSE	1	0.00321	0.00321
No further preference	72	1.00000	72.00000
No further preference	5	0.00321	0.01605
Not transferred due to rounding			0.00000
	Total		370.06420

This report contains the transfers results.

## Stage 6 - Exclusion of Robin STENHOUSE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Douglas BOWEN	25	1.00000	25.00000
Transfer to Hazel FLANAGAN	319	1.00000	319.00000
Transfer to Ellen SCOTT	21	1.00000	21.00000
Transfer to Douglas BOWEN	1	0.00321	0.00321
Transfer to Hazel FLANAGAN	26	0.00321	0.08346
Transfer to Ellen SCOTT	3	0.00321	0.00963
No further preference	313	1.00000	313.00000
No further preference	4	0.00321	0.01284
Not transferred due to rounding			0.00000
	Total		678.10914

#### Midlothian Council

## Transfers Report

This report contains the transfers results.

# Stage 7 - Exclusion of Hazel FLANAGAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Douglas BOWEN	126	1.00000	126.00000
Transfer to Ellen SCOTT	139	1.00000	139.00000
Transfer to Douglas BOWEN	127	0.00321	0.40767
Transfer to Ellen SCOTT	140	0.00321	0.44940
No further preference	731	1.00000	731.00000
No further preference	850	0.00321	2.72850
Not transferred due to rounding			0.00000
	Total		999.58557